Strategies for Percent Problems


15. Solve percent problems of the form ___% of ___ is ___, where two of the three blanks are known and one of the blanks is unknown.
a. Change to an equation: known numbers go in as numbers; change the percent to a decimal; “of” becomes multiplication; “is” becomes “=”; the “what” (the unknown, the blank) becomes x.  Then solve using basic algebra.
b. Another way is to use a proportion.  Use “percent”% of “whole” is “part.”  NOTE: “part” may be larger than “whole,” which occurs when the percent is larger than 100%.  Set up the proportion as .  Then solve the proportion for the unknown.  Students are sometimes taught .
c. A third way is a bit of a hybrid.  Use .  In the “percent” position, put the percent as a decimal.  Then solve the equation for the unknown.
16. In a percent change situation, find the percent change, the amount of change, the original amount, or new amount.
a. Use .  Plug in the known’s and unknown (use x).  Then use algebra to solve.  Very efficient if finding percent change.  Somewhat difficult if finding original amount (because the variable is in the denominator).
b. change% of original amount is amount of change.  These problem can be done like the ___% of ___ is ___.  That is, using algebra (with x in for the blank) or with a proportion.  Has the advantage of using (leveraging) known ___% of ___ is ___ strategies.  An additional advantage is that the formula does not involve a fraction.  Therefore, if algebra is used, steps are a little easier.
i. Use the algebra method (above).
ii. Use proportion method (above) .
c. Think about the resulting percent.  That is, the percent you get after the percent change.  If a percent decrease, your resulting percent will be less than 100%.  For example, a 20% discount results in 80%.  If a percent increase, your resulting percent will be more than 100%.  For example, a 35% increase results in 135%.  
Then use resulting% of original amount is new amount.  Then, as above, use any of the ___% of ___ is ___ strategies.  
